Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-4 EXAMINATION -WINTER- 2019

Subject Code:3340705 Date: 19-11-2019
Subject Name: Computer Organization And Architecture
Time:02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.

5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Q.1 Answer any seven out of ten. £21Hie{l S1&URL Aldeil Fdled AU,
1 Identify the micro-operation represented by the statement R3¢ R1+R 41,
1 R3CRI+R +1 gIR13% °Ad HI© 51 WTURlelal WU,
2. Give truth table and characteristic equation of T Flip flop.
R T-Flipflop o g2l 246 el cllgi(Rls A1 5L 41Ul
3. Draw block diagram of digital computer.
3. [Sleed s122 o] 6dls SIUIAM 2.
4. Give four examples of auxiliary memory.
¥, wllsofladl AuRletl YR GelsW 1),
5. Inthe context of data transfer, What is strobe?
U, 32l 2leds el Aeeiui, Wl g 82
6.  Draw ablock diagram of P:R2 < RL1.
€. P:R2 € R1el 6als SRUAM IR
7. Write the micro operations, necessary to perform “POP” operation on stack.
9. XWSU"POP " WIURRlel Sl HI2 %0 HIB S| AUt Qull.
8. Write the basic symbols used for register transfer.
¢ AR 2115 Ul GUAIME AdLdl ULl {3l qudl.
9.  Explain MAR and MDR.
€.  MAR ¥ MDR YH1dll
10.  Explain synchronous serial data transfer in short.
. [Reslelluy {1F1ud 32l 211§ S5HI Auomd].
Q.2 (@ Draw a figure of 4 bit binary adder-subtractor.

Ust.2 () 4l w1Ee3] WS M5 ofl uis(d £l
OR

(@  Explain any three arithmetic micro operation with example

) S16URL AR WU (2s UL S) vl GeleL A8l HHwdl

(b)  Explain circular shift, arithmetic shift and logical shift micro operations with
example

()  UAYER (12, ANUN(2s (15 wa dlfsd (U5 HIBS) WU
GeleWL AL yHemdl
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Explain selective set, selective clear and selective complement micro
operation with example

[ (seq Ae, [MaAlsed (5612 ua (A (sed slEHoe HIB S 21Ul

GelsL AL HHldl
Value of 16-bit accumulator (AC) is AAOO H. What is the value of AC after
performing the CMA micro operation?
16-6{l2 WYRYA2R (AC) of YR AAO H 8. CMA HLE S v1lu2lst U51H
s ugfl A YRJA22¢] YU 9 €912

OR
Consider a 16-bit accumulator (AC), whose value is AA0O H. What is the
value of AC after performing the CLA micro operation?

16-0{le WRYRIAL(AC) o H&L AA00 H 8. CLA HIE 5] 3U3Q1et U514
sul ugl Asypyder Yeu g s2l?
Write characteristics of RISC
RISC «il dlei(BL5d 1) dud).
OR
Write characteristics of CISC
CISC «il d@1el(Qsd 1] du)

Draw a flow chart of Control unit of basic computer.

HOGd 51201 (1AL R 5Hed] &6) ALE €12,
OR

Draw a flow chart of Interrupt cycle.

He2l2 UlUSHeAl 56l YIS L.

Draw a timing diagram for the statement D1 T1:SC<0
D1T1:SC40 oil 21612l SIUIAIM €.
OR
Write the micro operations need for the instruction STA(Store AC)
STA 825215t HI2 %3] HIB 51 WUt Gud).

Draw a diagram of 4 bit register.

4 0fle R0l SIUIAM €121
OR
Draw a diagram of 4 bit shift register.

4 of]2 (2152 2)Red] SIUIAM €l

Explain Instruction format with example.

9o 520el slHe GelsL A18) AHo1d).
OR

Explain parallel processing.

RECICR R EYRTRIEL I

Convert the expression 8-6*2+9 into postfix notation and then evaluate it
using stack.
U150 8-6%2+9 o UNR2 (55U clleQletHi el el 2501l GULIL 53]
dej YRU[ 54l 531,

OR
Explain types of interrupts with example.

Gel&WL YA B2 oll USIRa yHemdl.

Explain RAM, ROM, PROM and EPROM.
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RAM, ROM, PROM and EPROM 421dll.
OR

Explain memory hierarchy with diagram.

U15[d A1 Q4] eleAS] YHdl.

Explain various modes of data transfer.
321 2le el [aldy Idl vud).

Draw a flow chart of CPU-IOP Communication.

AINY-21 152 1A 21e1el) 561 UL €12,

List and explain different addressing modes with example
el el USRI HISel ALE] WU 1A GeleL A1 YH%dl
Consider a Main Memory of 1GB and cache memory of 1MB where direct

mapping is used. Calculate and Give: (1) Size of MAR(in bits) (2) Number of
bits for TAG field (3) Number of bits for Index field.

1GB <l Yut Q43| el 1MB il 321 QU3 e leiui €l % i Direct
Mapping du2d 8. 2AQld3] 5] Al HIUL: (1) MAR <l A183({l2 i)

(2) TAG §les ell [(42s{l vl (3) INDEX §1€5 ell [64oueil vl
Draw a diagram of “Match logic for one word of associative memory”

“AA (A2 AUell W5 oe Hies, DU L% 57 ofl 415[d €12,
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